Egy girator sz(iré elve

VDD R4
Be 33pF
T .
= —1 1 R10 cs
33kQ j_ I*
15kQ c3 1000  470F Ki
33pF R11
NE5534AP 100kQ
100Q
-5V P NE5534AP
c7 erfsités
R5 R6 qsv 1000 R13
¥ —
1kQ 100Q R12 o T
4TuF 10k 50% 33kQ -
Key=A
33pF RX
=—=cY
R14 R19 R24 R29 R34
10kQ 10kQ 10kQ 10kQ 10kQ
Key=A 50% Key=A 50% Key=A 50% Key=A 50% Key=A 50% RY
c19 3300 c22 3300
c10 C13 —— VDD Ryo c16 L YBP  R2s 220nE|_ VOD  R30 100nE]_ VBD  R3s
2.2uF 1uF
470nF
15V 15V
c20 c23
6.8nF  250Hz 33nF  500Hz
c12 C15 c18 c21 Cc24
=—=100nF 100nF ==100nF ==100nF ==100nF
NE5534A] NE5534A]
A5y 330Q A5y 3300 A5y 3300
R44 R49 R54 R59
10kQ 10kQ 10kQ 10kQ 10kQ
Key=A 50% Key=A 50% Key=A 50% Key=A 50% Key=A 50%
25|y B0Q c28 VDD s S| vop s S| vop s %7 | vop s i X il R RY
4TnF_|_ R40 2T R45 15nF _|_ R50 6.8nF__ ] RS55 3.3nF_L R60 30Hz 22 33n 1k2 330K
15V R4z 15V R47 15V 15V RS7 15V 60Hz 1u 15n 1k2 330k
c26 c29 C32 €35 125Hz 470n 10n 1k2 330k
—1.5nF 1KHz —e680pF 2KHz ——330pF 4KHz —150pF 8KHz ——100pF 16KHz
S o > 30 > 33 > c36 > 30 250Hz  [220n  |6n8 1k 270k
1 ——=100nF 1 =—100nF 1 ——=100nF 1 ——=100nF 1 ——100nF
NES534A NES534A NES534A 500Hz  |100n 3n3 1k 330k
R43 - R48 - RS3 - RS8 2 R63 2 1KHz 47n 1n5 1k 270k
270kQ 270kQ 270kQ 270kQ 330kQ
2KHz 33n 680p 1k 270k
vss R41 vss R46 vss R51 vss R56 vss R61 4KHz 15n 330p 1k 270k
Jsv 3300 Jsv 3300 qsv 3300 l:l_1 sv 3300 l:l_1 sv 3300 8KHz 6n8 150p 1k2 270k
16KHz 3n3 100p 1k2 330k
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